





q = 40

Agnus Dei






A

p

 
lentissimo

gnus


-

 
De

   
i,

 

- - - - qui


tol

 
-


A

p
   

gnus


- - -


De

  
i,

 
- - qui


tol

 
-





Ap
    

gnus

 

- - - - - De

 
i,

 

- qui


tol

 
-

 
Ap

  
gnus


- - De

  
i,

 
- - qui


tol

 

-
6





lis


pec


ca


-


ta

 
-


mun


di:


- do


na


- e


is


- re


qui


- em.




-


lis


pec


ca


-


ta

 
-


mun
 

- di:


do


na


- e


is


- re


qui


- em.



-





lis


pec


ca


-


- ta


mun


- di:


do


na


- e


is


- re


qui


- em.


-


lis


pec

 
ca


ta


- - mun


di:


- do


na


- e


is


- re


qui


- em.


-

11





A

 
gnus

 
- - De

 
i

 
- qui


tol


lis


- pec


ca

 
- ta


- -


A

  
gnus
 

- - De

 
i

 
- qui


tol

 
lis


- pec


ca

 
- ta


- -





A

 
gnus


-

 
De

 
i

 
- qui


tol


- lis


pec


ca

 
- ta


- -


A

 

gnus


-


De

  
i


- - qui


tol


lis


- pec


ca

 
- ta


- -

16




 
mun

 

-


di

 
- do na-

 

    

e

 

rall
is


- re

 

qui


- em.




-

 
mun


- di

 

- do na-

 

  

e
  

- is


re
 

qui


- em.



-




 
mun


- di

 

- do na-

   
e

  
- is


rall re

 
qui


- em.


-

 
mun


- di

 

- do na-

   
e

  
- is


re

 
qui


- em.


-


